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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This Question Paper contains 38 questions. All questions are compulsory.
(ii)) Question Paper is divided into five Sections — Section A, B, C, D and E.

(iii) In Section A — Questions no. 1 to 18 are Multiple Choice Questions
(MCQ@s) and Questions no. 19 & 20 are Assertion-Reason based questions

of 1 mark each.

(iv) In Section B — Questions no. 21 to 25 are Very Short Answer (VSA) type

questions, carrying 2 marks each.

(v) In Section C — Questions no. 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section D — Questions no. 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section E — Questions no. 36 to 38 are case study based questions,

carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 3 questions in Section C, 3 questions in

Section D and 2 questions in Section E.

(ix) Use of calculators is not allowed.

SECTION - A

This section consists of 20 multiple choice questions of 1 mark each. 20 x 1 =20

- - - —> - =
1. If a and b aretwovectorssuchthat | a |=1,| b |=2and a ‘b :1/§,

- - .
then the angle between 2a and —b 1is:

T

B) 3
11m
<6 — D) o
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e a =21 - +k, b =1-38] —5kauc =31 +4] + 4k fow Fg
i et ol FEUd H 8, T8 8

(A) T FHeTg By (B) TH Afmp-H By

(C) T HufgsTg By (D) T @HHI By

T a TH I AR REH R | 2 | =ad, @
|;x€|2+|2x3|2+|2xf§|2w1ﬂ?%

(A) a2 (B) 2a2

(©) 3a2 D) 0

Ife A = {_31 ﬂ BAMAZ+TI=kAR, Ak FIIAE :

@A) 1 (B) 2
C) 5 D) 7
1 -1 2 ~2 0 1
AMTA=|0 2 -3 FI?JTB:% 9 2 —3||1ICAB=1%, AASBIHAAE:
3 -2 4 6 1 A
—9
(A) e B -2
-3
(®) - D) 0
x2 T x3 & G 3TIhA &
2 3x
(A) o B) 3
© = D) 6x°

e f(x) = |x| + [x—2]

(A) ¥dd g, Tg x = 0 qAT x = 2 T FTheA T8l § |
(B) 3T 8, T = 0 AT x = 2 W Fad 781 8 |
(C) ¥ad &, T adl x = 0 W FTheH T T2l ¢ |

D) TANFAAEIMAT x=0qAT x = 2 W ITHAA T 2 |
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AN AN AN —> AN A

N A A A N A

2. Thevectors a =21 — jJ +k, b =1 -3j-5kand ¢c =-31 +4j +4k
represents the sides of
(A) an equilateral triangle (B) an obtuse-angled triangle
(C) an isosceles triangle (D) aright-angled triangle

- -
3. Let a be any vector such that | a | = a. The value of

> N9 —> N9 > N2,
la x1|"+|laxj|"+]axk]| 1s:

(A) a? (B) 2a2
(C) 3a? D) 0
3 1 .
4. IfA= { 2} and A2 + 71 = kA, then the value of k is :
A 1 B) 2
C) 5 D) 7
1 -1 2 -2 0 1
5. LetA=|0 2 -3 andB=% 9 2 —-3|.1If AB=1, then the value of
3 -2 4 6 1 A
Als:
W =2 B) -2
4
-3
© - D) 0o

6. Derivative of x% with respect to x3, is :

2 3x
@& = ®
©) %’“ D) 6

7. Thefunctionf(x)=| x| + | x—-2 | 1s
(A) continuous, but not differentiable at x = 0 and x = 2.
(B) differentiable but not continuous at x = 0 and x = 2.
(C) continuous but not differentiable at x = 0 only.
(D) neither continuous nor differentiable at x = 0 and x = 2.
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8. gtan2(g) d0 T M &
(A n+ 43 (B) 343 —n
€ V3 -n D) n—+3
9. Www%+gy=0,x¢0$[ww%:
X X
@ 2 B) 2
(C) e% (D) elog (2x)
cl-x y-1 z 2x—3:y:z—4 . ‘
10. @M =3 _la%m o 1T T , p o o8 T & foiT 7o oieed g,
TEE:
1 1
(A) 5 B) 5
€) 2 D) 3
11. Rges wmm= wen (LPP) fSeeh gera & g T 2, & 3e99 o Z = 4x + y &l

AR AR 2 :
Y

N

90 1

(0, 50)
50 1

B (20, 30)

WL .C —N >X
0] 10 20 30 40 50
(A) 50 (B) 110
(©) 120 (D) 170
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The value of j tan?2 (gj dois:
0

(A) n+ 3 B) 343 —=n
©) NER D) n- J3
i ) ) ) . dy 2 )
The integrating factor of the differential equation T +—y=0,x#01s:
X X
2 2
@ — B =x
2
© e (D) elox 29
The lines 1-x = y-1 -2 and 2x =3 =Y _Z- 4 are perpendicular to
2 3 1 2p -1 7
each other for p equal to :
1 1
A —= B =
(A) 5 B) 5
€) 2 D) 3

The maximum value of Z = 4x + y for a L.P.P. whose feasible region is
given below is :

Y
N
90 -
(0, 50)
50
B (20, 30)
(30, 0)
WL .C: " >X
0] 10 20 30 40 50
(A) 50 (B) 110
(C) 120 D) 170
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12. afe ueh Argfemes =X X &1 ITfehdr seq, =12

X 0 1 2 3 4
P(X) 01 | k| 2k | k| 0.1
JET k Teh AT =R E |
A A =X X 1 H 2 B <l Tk &
1 2
A) = (B) 5
4
(C) 5 (D) 1
13. e f(x) = kx — sin x , TR 940 8, afe
A k>1 B k<1
C) k>-1 D) k<-1

14. T a1 Frft g, S o fig e Rl afem d = 1 - ) 8, @ Ao R
anYE T =i +k +u(2€ _ /j\)ﬁ;wim%,%:

x—-2 y+1_z x—1_y+l1_z
@) 1 0 1 ®) 2 -1 0
x+1_y+1_5 x—lzlzz—l
© 2 -1 0 ) 2 -1 0
a c 0
15. ae|b d 0 Q%ﬂﬁ{ﬂ:ﬁﬂ%(scalarmatrix)%,?ﬁa+2b+30+4d%‘[ﬂ1¢[%
0O 0 5
@A 0 B) 5
(©) 10 (D) 25
16. ﬁm%ﬁﬁA_l:%rS ﬂ%,aﬁanaggA%:
2 -1 2 -1
&) 7{3 2} (B) [3 2}
112 -1 112 -1
© ?{3 2} ©) EL& 2}
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13.

14.

15.

16.
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The probability distribution of a random variable X is :
X 0 1 2 3 4
PX) | 0.1 | k| 2k | k | 0.1

where k 1s some unknown constant.

The probability that the random variable X takes the value 2 is :

1 2
(A) = B) 5
4
© < D) 1

The function f(x) = kx — sin x is strictly increasing for
A k>1 B) k<1
C) k>-1 D) k<-1

The Cartesian equation of a line passing through the point with position

AT . -> N A AT
vector @ = 1 — j and parallel tothe line r =1 + k +u(21 — j), is

@ =2_y+l_z @ X-l_y+l_z
1 2 -1 O
©) x+1:y+1:E D) x—lzlzz—l
2 -1 0 2 -1 0

a c 0

If | b d 0] is a scalar matrix, then the value of a + 2b + 3¢ + 4d 1s :
0 0 5

@A) 0 B) 5

©) 10 D) 25

Given that A—lzé[ 2 ﬂ,matrixAis:

@) 7{2 ‘ﬂ ®) E ﬂ
112 -1 112 -1

© ?{3 2} ©) 4_9{3 2}
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s zr&A:D 14%,?%1—A+A2—A3+...%

-1 -1 3 1
(A) 4 3} (B) 4 _J
0 0 1 0
© 0 0} D) 0 1}

18. 3Tahel GHIH (x + 2y2) 3—:; =y (y > 0) I GuTHeH 0T 7 :

@ L B =z
X

© v D) %
AU — b i I
e &1 19 T8 20 § T ITRRYA (A) % 91¢ T de (R) fean 2 | 1 § 8 =& 3w
T
(A) IR (A) 1 T (R) I T & | T%h (R) 310 (A) 1 T S i
2|

(B) 3fepeH (A) qum Tk (R) gHi & & | T (R) 1M (A) i ot =men &
T |

(C) IRRFAA (A) H 8, Trg o (R) 3 2 |
(D) IARTHYT (A) 39T & e doh (R) T2 |

19. HAMHE (A) : G99 R = {(x, y) : (v + y) Th W T 2 AU x, y € N} T &&ged
T R B |
T (R) : Tft ITehd T&13TH n 6 foT, 2n Uk AT HEAT R |
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17. IfA={24 12},thenthevalueofI—A+A2—A3+...is:
1 -1 3 1
A B
A) 4 3} (B) 4 _J
0 0 1 0
C D
(®) 0 0} (D) 0 J

18. The integrating factor of the differential equation (x + 2y?) ;1_y =y (y>0)
X
1s :
1

@ X B) =
X

© vy o =

y

ASSERTION-REASON BASED QUESTIONS
Questions No. 19 & 20, are Assertion (A) and Reason (R) based questions
carrying 1 mark each. Two statements are given, one labelled Assertion (A)
and the other labelled Reason (R).

Select the correct answer from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The relation R = {(x, y) : (x + y) is a prime number and x, y € N}

1s not a reflexive relation.

Reason (R) : The number ‘2n’ is composite for all natural numbers n.

65/4/3/21/QSS4R Page 11 of 24 P.T.0.




@ collegebatch con

20. MR (A) : forelt LPP % fore wfterg gemma & & wivfia feig qofu mu # |

21.

22.

Z = x + 2y 1 AhdH TH 3= (GG W2 |

Y
6% N (0, 60) T (120, 60)
(60, 30)
R
301 3
/
(40, 20y~ |
(120,00
0 P\ QN
(60, 0)

@ (R) : T LPP a1 Gord &= 9Rieg 81, 1 $8aH g1 v foig TER & |

Qg - g
M @UE H 5 3 77 I AT T 7, T8 Tieh o 2 37 ¢ |
(a) ey =cosd (sec? 2t) B, aI % T IS |

YT

() = ety A frg i e & - 108X

dx  (1+logx)?

Teh B 1 3T 6 cm?/s I G H 96 T ] | °9 1 IETT e fohe & ¢ 181 7, &

NI aN N\

g fopT shl T8 8 cm 8 ?

23, TW3T TP f(x) = sin x + cos x R Je B £, A (E, 5RJ T R gEH 2 |

4’4
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20. Assertion (A) : The corner points of the bounded feasible region of a
L.P.P. are shown below. The maximum value of Z = x + 2y occurs at

infinite points.

Y
A
6% N (0, 60) T (120, 60)
(60, 30)
R
301 3
/
(40, 20y~ |
(120,00
0 P\ Q\ i
(60, 0)

Reason (R) : The optimal solution of a LPP having bounded feasible

region must occur at corner points.

SECTION - B

In this section there are 5 very short answer type questions of 2 marks

each.
_ 3 2 - dy
21. (a) Ify=cos® (sec” 2t), find e

OR

(b) Ifx¥y=e*"Y, prove that ﬂ = log x

dx  (1+logx)?

22. The volume of a cube is increasing at the rate of 6 cm?%/s. How fast is the

surface area of cube increasing, when the length of an edge is 8 cm ?

23. Show that the function f given by f(x) = sin x + cos x, is strictly decreasing
in the interval 5,5—75 .
4 4
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26.

27.

28.
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1—sinx

(a) 7<x<—ém%mta —1( cosx ]ﬁwwﬁwﬁm|
YT

(b) tan! (1) + cos™! (— %) + sin”! (— %j %1 T&T HH T i |

T it : [ —

(x? + 1)(x —4)

Tque — T

30 @UE H 6 G-I YHR o T &, [ T o 3 31 7 |

fea 2 fp y = (cos 2)* + cos™! Vx g—y FTd iR |
x

(a) 3T THHWT % =y cot ZXWWEHWW,W%%y(EJ =2 |
JAYAT

(b) Wﬂﬁw@e% +y) dx = x dy o1 fof3e & F1a Fifsw, femg fry =1

B x=1% |

RIS jsecS 0 do
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24.

25.

26.

27.

28.
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(a) Express tan™? (1 c0§x j, where _7% <x< g in the simplest form.
—sinx
OR

; . 1 . 1
b) Find the principal value of tan! (1) + cos™! (— —] + sin”! (— —j
(d) princip (1) 5 72
Find : j . 2x .

(x° +1)(x* —4)
SECTION - C

In this section there are 6 short answer type questions of 3 marks each.

. dy . .
Find d—y, if y = (cos x)* + cos™! vx is given.
x

(a) Find the particular solution of the differential equation % =y cot 2x,
X
given that y(gj = 2.

OR

(b) Find the particular solution of the differential equation

y
(xe* +y)dx=xdy, given that y=1 when x = 1.

Find : jsec3 0 do
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29. (a) 52Ul =B YPR A HA AN H TS H A Uh TN @I AT 2 | I Il § §
ATGTHAT Teh U1 HepTeTl ST §, Sl SIGRIE aTell Il 91l Sl & | @ 7T¢ 9 <
STEIITE AT Uil B4 bl TTfehdl TTd ShIf |
COC))
(b) e AT ITH T AHEEAT 3T < STRIehal, foraw €@ < 31 shl aiehar & g
2 | 38 U8 I <1 IR IBTSAT T | B: M <hl TEAT T TTRIehdT 57 AT HIFT | 36
S w1 A1e off Fa Hife |

30. e T o epr gru it GaTd &= o vl foig bl H Ry MU & :

Y
N
117 B (4, 10
I (4, 10)
0, B2 C (6,98
4 4 D (6> 5)
E(4:, O) : -

7

0 2 4 6 8

() e Z = 3x — 4y 3278 HoH 7, 91 Z 1 Jhad TH F1d T |

(i) A Z=px+ qy, p, q > 0 3£ BH &, Al p TUT q § I8 FaY A1q shifae, s
1T Z w1 Stfereham 9 B(4, 10) 91 C(6, 8) W |

x dx
2x+sin 2x

n
4

31. (a) mamaﬁﬁmjlﬂos
0

YT

1 X
(b) FahiiE : [ e* =+ dx
I [(1+x2)E \/1+x2}
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A card from a well shuffled deck of 52 playing cards is lost. From the

remaining cards of the pack, a card is drawn at random and is found
to be a King. Find the probability of the lost card being a King.

OR

(b) A biased die is twice as likely to show an even number as an odd

number.

If such a die 1s thrown twice,

find the probability

distribution of the number of sixes. Also, find the mean of the

distribution.

30. The corner points of the feasible region determined by the system of linear
constraints are as shown in the following figure :

Y

4

11+
10 1

0, 8) A4
8

B (4, 10)

C (6, 8

D (6, 5)

BGO

N

0

7

2 4 6 8

(1) IfZ = 3x— 4y be the objective function, then find the maximum value

of Z.

(1) If Z = px + qy where p, q > 0 be the objective function. Find the
condition on p and q so that maximum value of Z occurs at B(4, 10)

and C(6, 8).

31. (a)

x dx

%
Evaluate : Il
0

OR

1

+cos 2x +sin 2x

() Find : j e [

65/4/3/21/QSS4R
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Qg - ¥

TH GUE U IR -3 Tl 9 & | Ik Ie 6 5 37k 3 |

x_i 2R gTenia e £ A — B
x_

T feoam IS | esris fob £ Tehehl o 3AT=BTes # |

CDUE]]

(b) St shIfTe fop R weft aredfass Testi o ag=g R | giefya day

32. (@) AMTA=R-{5}TNB=R—-{1} 8 | f(x) =

S={(a,b): & a—b + V2 Tk AT TEA 2 }
e, THTHA 1 TR & |

33. (a) %@ngzyi(szl:lzamsaé;wm@m‘(@a‘rﬁg (4, 0, —5) T B

AT 2, o siT= sl gl T I |

YT

. x—-1 y—-2 z-3 x—-1 y-1 z-6 : ;
(b) afe w@rd — T T3 T === __7qwaaaﬁ%,?ﬁk

T HH F1d HINT | 37d: IUed aHT G137 o Aedd Ueh WG oh1 Hie HIHT
faftag, S fag (3, 4, 7) A BRI 2 |

1 2 1
2 3 -1
1 0 1

3q: T gt T <1 81 J1a ShifvTe

34. Ifc A= 2, d A1 3ma hifs

x+2y+z=5
2x+3y=1
x—y+z=38
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SECTION -D

In the section there are 4 long answer type questions of 5 marks each.

(a) Let A=R - {5} and B = R — {1}. Consider the function f : A - B,

x—3

defined by f(x) = = Show that f is one-one and onto.

OR

(b) Check whether the relation S in the set of real numbers R defined by

S ={(a, b) : where a —b + V2 is an irrational number} is reflexive,

symmetric or transitive.

(a) Find the distance between the line 2:2}74_6:1_: and another

line parallel to it passing through the point (4, 0, —5).
OR

x—lzy—2:z—3 and x—lzy—lzz—G
-3 2k 2 3k 1 -7

perpendicular to each other, find the value of k and hence write the

are

() If the lines

vector equation of a line perpendicular to these two lines and passing
through the point (3, —4, 7).

1 2 1

34. FindA1,if A={2 3 —1|.Hence, solve the following system of equations :

1 0 1
x+2y+z=5
2x+3y=1

x—y+z=38
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35. (a) 9%y =x|x| 1 ARG GifeQ | 37 30 ok, X-31&7 qAT BT 1 = —2 qAT
x = 2 % o9 B &7 &1 ST% FHERA 9 F1d hIfT |
FrE

(b) THTHSH % TANT H drEigd 9x2 + 25y2 = 225, W3 x = —2 T x = 2 IR
X-3787 o ofi= feR &1 <1 &1het 3Td hIf |

e -
39 GUS T 3 Teh{T ATHTHA T 8 | Tcdish I o 4 376 & |
36. Ufga, e 3K smfern T & ug st A fifedai & fofe wnenepn % fote 3ufed gu |

Qs 26 3 T B TR % 2, et 3 < T <6 ST % o ST % T

1 TRreRar i 8 | = <l T Ueh G H A © |

SUeR SR o SATYR I f I & ST e
(i) STH W Y U HH Th o g A bl TTRIhdT FA1 8 ? 1
(i) P(G|H) 3/ IR &t G, Tesid & g3 T o1 gt & a1 H Ufgd & 7 94
ST %I T 2 | 1
(iii) ITH T hdel Teh o G T shi Il [T HIFT | 2
3T
(iii) 378 W S Gl o T ST <hl JTRIhT [T HIT | 2
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35. (a) Sketch the graph of y =x|x| and hence find the area bounded by this
curve, X-axis and the ordinates x = -2 and x = 2, using integration.

OR

(b) Using integration, find the area bounded by the ellipse 9x2 + 25y% = 225,

the lines x = -2, x = 2, and the X-axis.

SECTION - E
In this section, there are 3 case study based question of 4 marks each.

36. Rohit, Jaspreet and Alia appeared for an interview for three vacancies in

. : : .1 ,
the same post. The probability of Rohit’s selection is = Jaspreet’s

selection 1is é and Alia’s selection 1is i The event of selection 1is

independent of each other.

Based on the above information, answer the following questions :

(1) What is the probability that at least one of them is selected ? 1

(i) Find P(G | H) where G is the event of Jaspreet’s selection and H

denotes the event that Rohit is not selected. 1

(111) Find the probability that exactly one of them is selected. 2
OR

(111) Find the probability that exactly two of them are selected. 2
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37. U WR, hoespeicd T 350 Ui hospheted o WId & oF T&1 g | Wehe o T Td & TER
o (p) % M W e aTeT hegpetedl hl HE&AT (x) o It & | Joi 3R feeh aret

T 6T &, AT HT B  p = 450 — %xmgﬁ%

IR o SR WX = J91 o ST S

(i)  3ATehad 3™ R(x) = xp(x) I A o ToT foha 318 (x) S=H 8 ? 3109 I
T T 1T |

(i) 3Tferehaw 31T % foTT Teh Sheapeiet o ool ohl TR o fohaT ST BRTT 2

38. Ueh WA ohg H Ueh 31Tk Ueh ToRIY dRIHSH H HeH THehIA i I <h! eidT & |
HH < T g O (0, 0, 0) T e 2 e i o <t fferlt D, A 7o V iR 36 Tohi & 6

A A A A A A A A Ao
o fRafg-mfewr s 21 +3j +4k,71 +5) +8k du-31 +7j +11k 2|

I b 3R T 7 o IR I
() Framv,frarAd R me? 1
_)
(i) DA i fesm o Ush Usheh—Hfex Id I | 1
(iii) £VDA %1 A H1d I | 2
¥an
—> —>
(iii) gfewr DV s afest DA W yey fha g ? 2
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37. A store has been selling calculators at ¥ 350 each. A market survey
indicates that a reduction in price (p) of calculator increases the number
of units (x) sold. The relation between the price and quantity sold is given

by the demand function p = 450 — %x

Based on the above information, answer the following questions :

(1) Determine the number of units (x) that should be sold to maximise
the revenue R(x) = xp(x). Also, verify the result.

(11) What rebate in price of calculator should the store give to maximise
the revenue ?

38. An instructor at the astronomical centre shows three among the brightest stars

in a particular constellation. Assume that the telescope is located at O(0, 0, 0)

and the three stars have their locations at the points D, A and V having position
AN A A

A AN A A AN A
vectors 21 +3j +4k,71 +5) +8k and-31 +7j +11k respectively.

Based on the above information, answer the following questions :

DO =

(1) How far is the star V from star A ? 1
H
(11) Find a unit vector in the direction of DA .
(111) Find the measure of Z/VDA.
OR
—> —>
(111) What is the projection of vector DV on vector DA ? 2

65/4/3/21/QSS4R Page 23 of 24



https://www.collegebatch.com/exams?utm_source=pdf

@ collegebatch con

65/4/3/21/QSS4R AN @ Page 24 of 24



https://www.collegebatch.com/exams?utm_source=pdf



